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- the expanded form in figures,
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agein ascending order.

A
, 1235, 3582, 899
3 1963, b) 8466, 6433, 8521, 8644
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nge in descending order.

L
2,8520, 852
; 8052, 8502 b) 6628, 8266, 6286, 6826

—————
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; Usethe digits to make the smallest and the greatest 4-digit numbers.
Smallest Greatest

a] 7! 8! 4! 9

1) 5,0,2,6

 Whatis the place value and face value of:

Place value Face value
3) 5in5432 T ———
b 0in 8079
| Answer the questions.

%) What is 1000 more than 5683? ———

") Which is the largest 4-digit number? ———

 What is the difference between the largest 3-digit number and the smallest

S-digit number?
b/ )
What is 100 |ess than 67897 ———

g
?y how many times does the value of 60 UP wh
ftby 1 digit?

en it moves to the



Her mother then gaye "
er

She had 999 + 1 = 1000 . m%'1
m[’]s ity

git number.

999 is the largest 3-di

Her father gave her 1 more & .
m
How many stamps does she hauep'
Noy

Now Rita is in Class 4. Her stamp collection

has grown to 9999 stamps.

9999 is the largest 4-digit number.

10000 is a 5-digit ber. It is d AT
'SE{. igit number. It Is rea 10000 is the smallest
as ten thousand. e

5-digit number.

Thy ThY/ YT

To write a 5-digit number, we need a new place value.

The new place value is the ten thousands place (T Th). 1
9999 is shown on the abacus as: 10000 is shown on the abac
ot oE g TThth H T 9




S TeldEChart and abacus as:
TTh Th H |

. T O

i’ TThTh H T O

| 5 8
?jmdthausaﬂds periods

ereasyto read large numbers, the digits are divided into periods.
the same period are read together.
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%ﬁa's":sl_fﬁ@_t.hee'.seoﬂé-

...........

3:&":0&'5 are separated by a comma.

“snmber 45,809 is read as: forty-five thousand eight hundred nine

zvalue and place value = TG =
b - ousands nes perio
*enumber 48,276: period
.‘ "";‘iiue of 4is 4. Place value of 4 is TThlTh | H | T 1O
{110,000 = 40,000 - ------------==-=""""TTT Joa e | 2aeili]eS
A A A A

f3158x1000=3000 --------------- 1

7_ “Zueof 8is 8. Place value 0

---------------

_________
----------

------
------------------

---------
e
e

: Jenfﬁls 6. Place value of 6 is 6 % 1=6
8000+200+7

I':g
Ve 6
| ““%inthe expanded form, 48,276 = 40,000 + 0



c) TTh Th

XERCISE 1 o each abacus.T LT O
write th ef p) TTP
a) TTh
acus-
Showthenumbe nth ) TTh h H 7 O
a) T Th Th
| L —
_,....---"',_...---"‘
...--i 4 3 o 2 8 r2 3 .7 2'--~?
s 4 2 0 B0
Write the number for the number name. Put the comma in the right plac,
five
a) Ninety-on€ thousand four hundred seventy _
d three hundred three ——— -

b) Thirty-three thousan
inety-

one __________.___-—-——

c) Eleven thousand N
he number name.

. Read the number and write t
a) 84,290:/__,_,_._——'—,.?

b) 29,354: " -

¢) 60,032

_ Write down the following.
a) Greatest 5-digit number: —— —

b) Smallest 5-digit number:
¢) 3thousand more than 10,010:

d) 6 thousand less than 43,102:

e) Ten thousand more than 12,345:
f) The expanded form of 38,709:




poW that:

e atest 4-digit number is 9999,
a2 81¢

q-?“ + 1 = 10.000
the smallest 5-digit numbe,

\ 000 IS :
{12 ‘eal'-"'[ S-digit number is 99,999, : luh .%mu? .
he s m“‘“ oY A
'akh fo“" 9 separate period. Therelone LQUOR0 s wiitien ax L O AN
;he place value chart for LOY,000 is.
o, B - E— =
mﬁasperiod Thousand'i R&ﬂt}d L ~ Quaspesd ]
;__,—-'—'—"-_ Ten Th -~ ‘d\ | ; y - | ‘ - \‘ht‘
Lakhs thousands N ) _l_..,_ \: Uirdreus (AN ‘ O
_,...—-"-_i-—.-—_ 0 l 0 'L e L‘l 1 ,“ ] “
—_— _
33,788

12378918 written as. _
read as: Four lakh tweuw thl-*e thQusang seaveid hundied SEO™N NI
tis

To show E-digit numbers o an AhACUS, 3 SIXDD SR IS Deevew T N P R i
s
423 PR IR AR (N e S L BN AN

v Vi by " .- \\

100,000 is shown on the abacus ast
-y '] |
L TTh Th H T Q L

x o 6 8 9 9) (a4 2 33 8.3

n423,789 the place vaiue of:
4isdx 1,00,000 = 4,00,000
lis2x10,000 = 20,000
§3x1000  =3000

Ts7x 100 = 700
f58x10 =80

¥isdxy =9




Therefore 4,

nded form is:

, expa
3RS 000 + 700 + 80 +3

9= 4'00,000 + 20,000 +3

4,23,78
EXERCISE 2
1. Write the number on eac L TThTh H T O ¢

2 LTThTh H T 0 D)

:

Show the number on the abacus.
O ¢ LT

—— e

1|

(542 136) (34340 8] 2 2 0 g3,

+ Write the number for the number name. Put the comma in the right place

a) Six lakh forty-five thousand three hundred twenty:

b) Two lakh ninety thousand one hundred one:
¢) Four lakh eleven:

Read the number and write the number name.
a) 6,28,732:

b) 5,80,210:
c) 4,41,063:

Write down the following,
a) Greatest 6-digit number:
b) Smallest 6-digit number-
¢) 3lakhs more than 4,10,0

_'-'-'——-—_________

. S
10:
d) 60 thousand |ess than 5,63 10;.




d more than 7,12,345;

o 54,073:
) qded form of 9,54,8/3:
' prp?
ing NUMPE"
al
0 P L aryin Eranakulam hal-" 75:430 books. A public library in
plc 1 45,498 books. Which library has more books?
T ‘has 4 . ) .
‘.fr.nat s question you have to find which number is greater—
we
y ::0 or 14549
4
: - mbers with different number of digits
fn
{ P . with more digits is always greater,
UM
) ore 145498 > 75,430
asfP d
"dle”"ai library has more books than the Ernakulam library.
2%
8 numbers with same number of digits
- | 5,39,468 > 4,28,972 |
mpare the lakhs digits. o 128, :
 FistcomE ' as5>4 ;
: ffthe lakhs digits are t,he same, compare , 7,67,329 < 7,89,900 '
the ten thousands digits. ! as 6< 8 5
; ffthe lakhs and ten thousands digits are the i 8,49,603 > 8,47,782 :
same, compare the thousands digits. las9>7 E

..........................

. Continue in this way—moving to the right, digit by digit, until you find two digits
that the different. See the examples below.

NNy S P e B | L R T T P ——

treas
..........................................................................

ending and descending order

Mang i : i :
. "Eng numbers in ascending order means arranging them in increasing order—

M
s from the smallest to the greatest.
fample 1.

Minge ; :
*iMascending order: 23,675 3456 60,000 8432



-----------------
- -

-

-
-

tasthe |
W te It a I ’000 -q..
er ﬂnd i ste \
1 p 1 \
ind the the list : ! stey, Y
step 1:F | gmallest, | 3
flf‘il nl”“b 4 ers the -------'-------._--?—6-(843
. l emai NG nu the ”St- ..... g
step 21" om all numbers
and write ! ext. € ve writt n down
continue I this way il you ha
on
s g ork ; ding order.
Rapid chech o 11234 and 21,543 1 ascending
o 4567 7654 7 _ _ |
Write J order means arranging them in dECFEaslng -
BN

Arranging numb
that is form the grea

ple 2: Arrange in des
tin

test to the smallest

cending order
i this case you have to find the greatest number

The method is the same, bu

in each step.
32445 106,456 237445 /E

Descending order: 1,00,456, 32,445, 23,445, 5430

Rapid check
Write 12,345 10,359 9999 and 1,00,003 in descending order.

EXERCISE 3
1. Fill in the correct symbol < or >.
) 8,026()32,001  b) 64332() 86,331 c) 1,95,422( )95,

d
) 356780( 356790 ) 248291()2,48270 f) 5,87,009 () 5778
2. Ring the greatest number in each

a) 23596 33496 22995 c) 20182 9
] 876  1,20,001

d) 53,138 53233
' ’ 53’088
. e) 4P67;143
3. Ringthe smallest number in gt 4,68,122 4,682
a) 435 44355 gy '

d) 67
789 67,879 6797 ¢) 116433 21643 12,346

Arrange in ascending orger e) 5,60,000 5,61,000 99,99

a)
s ,3 1



nge descending order.
Ar

5-3 25,55
329 59,329 59,530 5,59,530

6 26,600 27,560 3,27,400

ol 50
’41'956 9,56,432 3,14,566 9,65’432

J 3

G greatest and smallest number

out repeating digits

W
sre given these number cards: . . . n !

o
fu 630 build many 5-digit numbers by arranging them in different ways.

.~aexamples are:

som
JEmEE BEEEE EEEEE EE

s —

Think! How will you build the greatest 5-digit number from the digits? Q

mple! Arrange the digits in descending order: ! . . . .

owwill you build the smallest 5-digit number from these digits?

But remember, the number cannot begin with 0.

mnge the digits in ascending order.
hich is a 4-digit number.

weannot write 03468 because 03468 = 3468 W

1the smallest 5-digit number is. . . H E

threpeating digits

Ware given the digits 1, 5, 6.

Hethe preatest 5-digit number with these digits; digits may be repe
peat the largest digit as many ti

ated.

Tan S g
g the digits in descending order, and re mes as

e
ary. So the number is: 66,651
ascending order and

arrange them in
11,156

'mak i
¢ the smallest number with these digits: ,
ry. So the number IS

Peat
the smallest digit as many times as necessa



EXERCISE 4 bers with these digits, With,
ut

num
greatest and the smallest

1. Build t!w glts. i
rcpeatlngi'f_i ¢ digits Greatest number m:
Digits NOmoeas a w |
)) 4,317 | * x
b) 53,214 ____,5__——~r x
¢) 3,06187 __6__ \
d 0,2756,9 : B

2. Build the greatest and the smallest nu
digits as required.

mbers with these digits, by repeat;
2

—
Digits Greatest Smallest ~ Greatest Smallest |
5-digit number | 5-digit number | 6-digit number | 6-digit nypp,,
==l
a) 3,1,7
b) 2,8,4
¢) 7,0,6,3
d 0,275

Rounding numbers

A newspaper headline says:

1500 people affected by floods
Do you think exactly 1500 people were affected?

. y have be oo means
is that the number is close to 15 o 1482 or 1537. What the headine ™

rounded off to 1500, 70-We say that the actual number has beer

Rounding to the nearest 10

To round a number, say 57, to the Nearest 10-



" S betw
Fmd een 50 and 60
b tenthe number is closer tq 57is closer to 60 th
F‘anEd o an 50, so it is
rﬂ y ] | e ———————
. ' roundup
/55,"5? 52 533 54 g% 56 57! &g 5:9 ;'0 ?
umber is midway between the two tens it |
is
. l;ﬂrhexample 85 is rounded up to 90, e
0 S ——
’A_‘_____,[_ { 1 1 - round uwpw_
" M’-‘Bs,f : : : : ——>
85 90

:Jample 1:Round off 1.432 and i, 2655 to the nearest 10.

. 432 lies between 430 and 440. It is closer to 430 Therefore it

s . it is rounded down
to .
founddown
___-I———— 1 P - : “I : II : 1 | L L 1 =y
430 .43_2' : ! ! T 1) 7

i, 2655 lies midway between 2650 and 2660. Therefore it ic rounded up to 2660.

aunding to the nearest 100
round off a number, say 743, to the nearest 100:

. Find the hundreds between which the number lies; 743 lies between 700 and 800.

L find which hundred the number is closer to; 743 is closer to 700 than 800, so it
isrounded down to 700.

5 round down ?43

—

| 1 1 ! | L >
T } i : }

700 710 720 730 740 X0 760 770 780 790 800

4 lithe number is midway between the two hundreds it is rounded up. For example
450is rounded up to 500.

round up >
IS p— . : : 2 TS ; ' : ; —

400 T T L} ' .‘.4‘5-0“1 500

mple 2: Roung off i.472 and ii.2750  tothe nearest100.

} ,
472 lies between 400 and 500.
is closer to 500, Therefore it is rounded up to 500.
i, 2750 Jjgs midway between 2700 and 2800. Therefore it is rounded up to 2800.



00 _
10 earest 1000.
5; 4650 lies betwee
" 4rx)ﬁ A

o the nearest
50, to the " .
ber lie

Snv ‘,6 '
. 'S C OSEI t 5 "

rounding t
joff a number
ds bc‘lwc'f'" ‘
/
I
4r,{

wm

To rount

Find the thousan
hows.md the’

Find which t ]
co it is roun ed up 10 5000- [
' n
if the number s midwaY bc(;\g‘ee
to 10,00V
" est 10gq,

9500 1s rounded UP
Example 3: round off i. 6470
6000 an

1
¢ it is rounded y
P-Fore,,

-
.

3.
d down to 6000.

i. 6470 lies between
it is closer to 6000. rherefore it is rounde
ii. 22,500 lies midway petween 2,000 and 23,000 Therefore itis Founday Ug
to 23,000.
EXERCISE 5
1. Round off to the nearest 10 * .**_
a) 32 b) 67 c) 452 d) 8> \'* ¥
e) 114 b) 966 c) 2456 d) 23,450 ** #
2. Round off to the nearest 100. "
a) 754 b) 8638 c) 9772 d) 49
g) 27,390 h) 99

e) 150 f) 45813

3. Round off to the nearest 1000.
c) 499 d) 93,228 ﬁ
h

a) 4892 b) 67,101
e) 5499 f) 2,69,859 g) 577,645 h) 999
4. :gu :;'a;nt to take sweets for your class on your birthday. There are
children in your class. How many sW ' l
g T y sweets will you take, rounded to

5. Latha’ i
t :::: 4soclass has 42 children. She rounds off to the nearest 10 and
sweets to class on her birthday. Did she do the right thing?

Why? What should she have done?
6. Anewspa '
per reporter was told th
between India p that 23,347 People watch i tc
22 000 watch cfi::est” Lanka. In the newspaper he gave theedha Czriiztar:'a
match. How did he rounded off the eba ? |
number:



system that you have learnt, 5

'y
6,7, 8 and 9. These are called mbers are writte

A2 _ At Numeras,
was invented in ndia and carrieqg

1
hy it is often called the Hindy

¢ in ancient times used another syste

1 . m.
ot gor ing the following numbers.

They used 7 symbols or

N using the symbols

numerals,
gsefl
e
v X
. c D M
1 5 10
50 100 500 | 1000 |
| for 0in the R
mer 0 Symb0| bers. It use On:an system. It does not use place
| 1 510 write num 3 s rules of addition and subtraction of
| ¥ aumbers to write other numbers
. [neabgve .
.' Jiing numbers 1-39
| ?E;ymblﬂs |,V and X are used to write numbers 1-39.
{
- el: Numerals | and X can be repeated. I|i=1+1+1=3-'
ié etition means addition. | and X can be | '
| hree ti XX =10+10=20 ;
repested up 0 {TEE AMES .
o 2: Anumeral written after a numeral of iVI=5+1=6 E
greater value, means addition iiﬂf.}ﬂi}.q_’i.s_i_zé_i
. Je3: The numeral | written before a numeral of greater ~ {IV=5-1=4
salue means substraction IXx=10-1=9
4t If the numeral lis placed between two numerals é-)il’\};.l-é;-(g'—_li _1a

of greater value, it is subtracted from the

cesmedbedort, 0 SRS
EXERCISE 6
L Write the Roman numerals.
: g9 55— O T——
319 b) 36—
L Write the Hindu-Arabic numerals. "
¢) XXX —— d) —

-3 xxvn b)

b

XXV ———




‘:‘ v

j————

\

Wl |~ ]|om || )Wl

XXX

—
(]

X

=

Xl

B

10+1+1

|
= | 33 10410+ 10e17..
14 | v | 34 L
15 i0+5 35 OO0
16 | xv | 36
17 37
18 38
19 | XX 39 e ___—#
20 10:10 | 4 sy
ey
4 Check it Ry
U and Mok She £m - .
nerak "’Ltd;jfer;-: :..,: a“:_g Reman numerals for the given - ; :'
- £ 10T wWrong answer. Alsg point out T2 T
GOwW
2 l'm.f:;‘ MOLU A
v &5 xXX1 ‘.:,:;_' ,

14
S

X
Vil




